Geometry Name
Segments Intercepted by a Circle Practice

. Ximi wants to determine the radius of a circular pool without getting wet. She is located at point K, which
4 feet from the pool and 12 feet from the point of tangency, as shown in the accompanying diagram.
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2. In the diagram below of PAO, AP is tangent to circle O at point A, OB = 7, and BP = 18. What is the length of

3. The accompanying diagram represents circular pond O with docks located at points A and B. From a cabin
located at C, two sightings are taken that determine an angle of 30° for tangents CA and CB. What is mzCAB?
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4. In the accompanying diagram, PA and PB are tangents drawn to circle O. If mzPBA = 70, find mP.
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5. In the diagram below, circles X and Y have two tangents drawn to them from external point T. The points of
tangency are C, A, S, and E. The ratio of TA to ACis 1:3. If TS = 24, find the length of SE.
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6. In the accompanying diagram segments RS, ST, and TR are tangent to circle O at A, B, and C, respectively.
If SB= 3, BT=5, and TR = 13, what is the measure of RS?
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7. In the accompanying diagram, secant AB intersects circle O at D, secant AC intersects circle O at E,
AE =A%, AC = 24, and AB = 16. Find AD.
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8. In the diagram below of circle O, secant AB intersects circle O at D, secant AOC intersects circle O at E,
AE = 4, AB= 12, and DB = 6. What is the length of OC?
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9. In the accompanying diagram, PA is tangent to circle O at A, PBC is a secant, PB = 4, and BC = 8. What is
the length of PA in simplest radical form?

10. In the diagram below, PS is a tangent to circle O at point S, PQR is a secant, PS= x, PQ = 3, and
PR = x + 18. Find the value of PS.
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\_+ In the diagram below of circle O, chord AB bisects chord CD at E. If AE = 8 and BE = 9, find the length of
CE in simplest radical form.
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12. In the diagram of circle O below, chord AB intersects chord CD at E, DE = 2x + 8, EC = 3, AE = 4x - 3, and
EB = 4. What is the value of x?
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A If AB||CD

If lines are parallel in a circle, then the °

arcs they intercept are congruent.* . Then AC =3BD W

13. In the diagram of circle O below, chord CD is parallel to diameter-AOB and mAC = 30. What is mCD?
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14. In the accompanying diagram, chord CD is parallel to diameter AB. If mAC = 25, what is m«COD?
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15. In the accompanying diagram of circle O, chord AY is parallel to diameter DOE, AD is drawn, and
mAD = 40. What is mzDAY ?
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If a radius (or diameter) is B If OC LAB

perpendicular to a chord, then the l — —
\_’/ |radius (or diameter) bisects the chord then AE=EB
and the intercepted arc.* , c and AC=CB
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16. In the diagram below, circle O has a radius of 5, and CE = 2. Diameter AC is perpendicular to chord BD at
E. What is the length of BD?
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17. In the diagram below of circle O, diameter AOB is perpendicular to chord CD at point E, OA = 6, and
OE = 2. What is the length of CE in simplest radical form?

18. In the accompanying diagram of circle O, diameter AB is perpendicular to chord CD at E, CD = 8, and
EB = 2. What is the length of the diameter of circle O?
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Find the values of x.
19.
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If chords are congruent, then they are
equidistant from the center.*

If chords intercept congruent arcs, then
chords are congruent. *
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Find the values of x.
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Find the mAB.
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Geometry Name Kf.\l
Segments Intercepted by a Circle Practice ' ]

<imi wants to determine the radius of a circular pool without getting wet. She is located at point K, which
4 feet from the pool and 12 feet from the point of tangency, as shown in the accompanying diagram.
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2. In the diagram below of PAO, AP is tangent to circleOatpoin A, OB =7, and BP = 18. What is the length of
AP?
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3. The accompanying diagram represents circular pond O with docks located at points A and B. From a cabin
located at C, two sightings are taken that determine an angle of 30° for tangents CA and CB. What is m<CAB?
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5. In the diagram below, circles X and Y have two tangents drawn to them from external point T. The points of
tangency are C, A, S, and E. The ratio of TA to ACis 1:3. If TS = 24, find the length of SE.
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6. In the accompanying diagram, segments RS, ST, and TR are tangent to circle O at A, B, and C, respectively.
If SB =3, BT =5, and TR = 13, what is the measure of RS?
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7. In the accompanying diagram, secant AB intersects circle O at D, secant AC intersects circle O at E,
AE= %, AC= 24, and AB = 16. Find AD.
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8. In the diagram below of circle O, secant AB intersects circle O at D, secant AOC intersects circle O at E,
=4, AB= 12, and DB = 6. What is the length of OC?
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9. In the accompanying diagram, PA is tangent to circle O at A, PBC is a secant, PB = 4, and BC = 8. What is
the length of PA in simplest radical form?
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10. In the diagram below, PS is a tangent to circle O at point S, PQR is a secant, PS = x, PQ = 3, and
PR = x+ 18. Find the value of PS.

o Xt Y& = 3(x+18 >

(T o= BxESH S T
t-ax - SY =0 @/

(X-9 Yx+¢ )"0
Mot to i \:= 4 &

\\/ In the diagram below of circle O, chord AB bisects chord CD at E. If AE = 8 and BE = 9, find the length of
CE in simplest radical form.
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12. In the diagram of circle O below, chord AB intersects chord CDat E, DE=2x + 8, EC= 3, AE=4x- 3, and
EB = 4, What is the value of x?
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If lines are parallel in a circle, then the
arcs they intercept are congruent.* c
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13. In the diagram of circle O below, chord CD is parallel to diameter AOB and mAC = 30. What is mCD?
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14. In the accompanying diagram, chord CD is parallel to diameter AB. If mAC = 25, what is mzCOD?
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15. In the accompanying diagram of circle O, chord AY is parallel to diameter DOE, AD is drawn, and

mAD = 40. What is mzDAY ?
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If a radius (or diameter) is B If OC L AB

perpendicular to a chord, then the
\_’/ |radius (or diameter) bisects the chord l then AE = EB
and the intercepted arc.* ’ c and AC=CB

16. In the diagram below, circle O has a radius of

5, and CE = 2. Diameter AC is pendi
E. What 1s the longths of Sop perpendicular to chord BD at
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17. In the diagram below of circle O, diameéter AOB is perpendicular to chord CD at point E, OA = 6, and
OE = 2. What is the length of CE in simplest radical form?
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18. In the accompanying diagram of circle O, .' ! m 'v= s perpendicular to chord CD at E, CD = 8, and
EB = 2. What is the length of the diameter of circle O?
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Find the values of x. 7 _ z o] 2
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Find the values of x.
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Find the mAB.
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